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11.

INSTRUCTION TO CANDIDATES
Immediately after getting the booklet read instructions
carefully, mentioned on the frontand back page of the question
booklet and do not open the seal given on the right hand side,
unless asked by the invigilator.

Write your Roll No., Answer-Sheet No,, in the specified places
given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen.

Darken the circle of correctanswer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

There are 150 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong Answer.

Do not write anything anywhere in the Question Bookletand
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
and cover page of question booklet is to be handed over to
the invigilator. Carbon copy of the Answer-Sheet and
Question Booklet may be taken away by the examinee.

This Question Booklet consists of Parts namely :

(1) (A) Physics 40 Marks
(B) Chemistry 40 Marks
(C) Biology 20 Marks

(2) General English 15 Marks

(3) General Hindi 15 Marks

(4) General Knowledge of Computer 10 Marks

(5) General Knowledge 10 Marks

All questions are compulsory. .
In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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FIRST PART
-(A) Physics

Which of the following quantity is a
Vector ?

(A) Current density
(B) Current
(C) Wattless current

(D) Power

One Kilowatt hour is equivalent to :
(A) 36x10° Joules

(B) 36x10% Joules

(C) 103 Joules

(D) 105 Joules

A 2 cm tall object is placed at 15 cm in
front of a concave mirror of focal length
10 cm. What is the size and the nature of
the image ?

(A) 4 cm, Real’
(B) 4 cm, Virtual
(C) 1 cm, Real

(D) None of these

1.

TIq 9T
(A) Hifaes et

frr 8 @ - afew a2

(A) €RI T
(B) &
(C) A uRl
(D) W

T FReEE U gEd © -
(A) 36X 105 S[&

(B) 36X 103 S[&

(€ 10°<&

(D) 10° 9o

10 A, PEE g0 F A 401 & TG
0 Q7. et awq 15 A, Y gl W feer €
wafsrs s SMEHR a1 T Bl :

(A) 49, Srfas
(B) 4 Q.1 HeulTH
(©) 194, arsfesh
(D) T q % T
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4. A coil of inductance 8.4 mH and 8.4 mH WHThed T 6 Q Ty arefl TF
resistance 6 () is connected to a 12 V FUSE! FI 12 V i S | ST T G
battery. The current in the coil is 1.0 A in I (AT) 9 R poed | yarfed &
the time (approximately) : 1OAR, 3.

(A) 500 seconds (A) 500 GhTE

(B) 20 seconds (B) 20 HHUE

(C) 35 milli seconds (C) 35 et dwve
(D) 1 milli second (D) 1 fheft dkoe

5.  The power of a solar panel depends on : R Iet w1 o FR e ©

(a) the arrangement of the solar cells (a) T ¥ OR qal & sAfufa=ard/ e
in it L

(b) the extent of surface area of the solar (b) ER Hel & TSI B! Hl HH W
cells

(A) Only (a) is true. (A) HIA (a) TA T

(B) Only (b) is true. (B) ad (b) A T

(©) Both (a) and (b) are true. (C) <HI (a) 3R (b) ¥ gl

(D) Both (a) and (b) are false. (D) Hi (a) 3R (b) T8 T

6. In the figure given below, the current o fed & o H 6 Q wfey § s el

passing through 6 () resistor is : YR I AA R
6 ) 6 Q)
I AVAVAVA — NN
12A 12 A
40 40
AAAA— ——AAA—
(A) 040 A (A) 040 A
(B) 048 A (B) 048 A
(C) 072 A (C© 072 A
(D) 0.80 A (D) 0.80 A
SPACE FOR ROUGH WORK / T% & & fed srg
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14.

15.

In the Wheatstone bridge shown, P=2(),
Q=30,R=6Qand S=8. In order to
obtain balance, shunt resistance across S

must be :

(A) 20
(B) 30
(C) 6Q
(D) 8Q

In the given figure, a=10m/ s? represents
the total acceleration of a particle moving
in a clockwise direction in a circle of
radius R =2.5 m at a given instant of time.
The speed of particle is :

(A) 232 m/s
(B) 4.65m/s
(C) 93 m/s

(D) 10 m/s

14.

femm T &ewn ¥g # P=20, Q=3 Q,
R=6Q0TNS=8 Q¥ T WC HA %
7 S F fo W e T v WiadE 6 1E

(B) 30
C) 6Q
(D) 8Q

Ty T fomr § R=2.5 . 5= % gEER
e TR e fRoTerd R A g TRl U1 % e
o sy TR &0 a=10 HL/92 9 oI
oo ST & | 9 1 T AT e

/ R\Af]\\
K,/

(A) 232 "3
(B) 4.65 HIZY/F.
(C) 9.3 Wy/A.
(D) 10 HY/E.
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FHeR Shferad ¥ TH Mo 1 =9 99 G

16. While measuring the diameter of a sphere 16.
using a vernier callipers the main scale & ©hel & UIgdieh 1 HE p W< Bl g,
reading was found to be p while the iR & wha 9 faem aren afieR @
vernier coinciding division was q. If the q 21 afe I3 H FAqqHIF r B, 9 A
least count of the instrument is r, then the e w1 7 fean s
radius of the sphere is given by the
expression is :
(A) ptqtr (A) ptqtr
(B) ptar (B) ptar
+qr +qr
© 5 © 5
T+ r+
® 5 o 5
17. For a real object, which of the following 17. drdias aE] ¥ fed = & | *i9-w
mirror/lens can produce a real image ? Yo/ ArEafdeh Fidfersl o1 Tehdl ®?
(A) Plane mirror (A) H9ae g
(B) Concave lens (B) oA
(C) Convex mirror (C) T g4I
(D) Concave mirror (D) sTEdd <Y
18. In a dam, generating hydro-electric 18. “a-foga vwfem Soo=1 & W &g T 9T
power, waterfalls at a rate of 100 X i vﬁ]ﬁ T 1000 W/Wﬂg Eq)
1000 kg/sec from a height of 100 m. W H R W@ g1 a8 "9 g % frd go o
Assuming that 60% of the energy of I He A1 60% B faga e A ofitafda &
falling water is converted to electrical @ &, SedIied Wi Hehvs sl 1 HH BAT
energy, calculate the energy generated (g=9.8 H./9?)
per second. (g=9.8 m/s?).
(A) 9.8x10°] (A) 9.8%x10° 5[
(B) 4.9%x10°] (B) 4.9x10° Jy&
(C) 2.88x10%] (C) 2.88x10° S
(D) 1.44x10°7] (D) 1.44x10° S[&
SPACE FOR ROUGH WORK / 1% & & o g
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19.

20.

A convex lens of focal length 40 cm is in
contact with a concave lens of focal
length 25 cm.

combination is :

The power of the

(A) -15D
(B) -65D
(C) +65D

(D) +6.67 D

An object placed at 9 m from a concave
mirror of focal length 1 m, moves towards
the mirror with a speed of 5 m/s. The

average speed of the image is :

1
(A) 7 m/s
® o m/s
© 2 m/s
2
(D) 3 m/s

19.

20.

40 2., P g0 1 TF S9a o9 25 A
BT 0 T STaaE A ok qeh | W
T TS S T

(A) -15D
(B) —65D
(C) +65D

(D) +6.67 D

& T 5 H./8. F A@ | 9 HL B g R
feorg 1 . Hrepe O T T IO Rl AR
1 @R | Wit i ofea W@ ®

(A) % . /9.
1

® 19 . /4.
5

© 3 . /4.

(D) % . /4.
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21.

22.

23.

When a ray of light in air enters a liquid,
it is found that the angle between the
incident and the refracted rays is 150° and
the angle between the reflected and
Calculate the
refractive index of the liquid :

[Given sin 75°=0.9659, sin 45°=0.7071]
(A) 1.432
(B) 1.366
(C) 1.520
(D) 1.286

refracted ray is 60°.

Two vertical plane mirrors are inclined
at an angle of 60° with each other. A ray
of light travelling horizontally is reflected
first from one mirror and then from the
other. The resultant deviation of the ray
is:

(A) 240°

(B) 100°

(© 300°

(D) 60°

A particle moves 200 m in the first 2 s
and 220 m in the next 4 s with uniform
deceleration. The velocity of the particle
at the end of 7 sec is :

(A) 20m/s
(B) 10 m/s
(©) 15m/s
(D) 5m/s

21.

22.

23.

& Y F TH R0 a1 € g9 | Jou
I §, e rafaq fevor iR erqafda faor
% 1 150° 1 I 51 © SR Efda iR
aruafda oo & st= 60° 1 wivr ffHa B
¥ 9 I AYAAIF §

[f&an & sin 75°=0.9659, sin 45°=0.7071]
(A) 1.432
(B) 1.366
(C) 1.520
(D) 1.286

T FEAR FHAA TUU TH G § 60° I
RYFH FLE | Sferer feem & et g8 wenrer 0t
T fohoT Il Toh TUUT € qUEhid giehd T8
U § qEfda et 7 1 39 foReor ot oot
farrem & -

ThTHM T % ST<Id Ueh ol 99 2 hUS
T 200 TR U1 ST 4 HHUS H 220 HIKX
I G T FIAT T TH RO B A 7 YRS
% 3= | B

(A) 20 He/AHTE

(B) 10 Wi/ WHTE

Q) 15 Hiey/qehve

(D) 5 #Hiew/q=ve

SPACE FOR ROUGH WORK / T% &1 & &% se
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24. Calculate the amount of ice, which is

sufficient to cool 45 g of water, contained
at 30°C, such that the final temperature
of mixture is 10°C.

(specific latent heat of fusion of ice
=336 ]/g).

(A) 20g

(B) 158

©) 10g

25. A concave mirror of focal length f (in air)
is immersed in water (.= %) The focal

length of the mirror in water will be :

24.

25.

30°C % 45 U™ T 1 10°C T SUST LA
¥ forg strervares stk &t = 1 A B

(k¥ 0T I @ HOHI=2336 S[A/TH)

(A) 20 T

(B) 157mM

(C) 107™

(D) 57™

R g £ (A1 H) T T ST g R
W(M=%)ﬁ§mﬁmw%| CERSE]
maﬁqﬁweﬁ@ﬁ:

*) ¢

4
® 3
© >t
® 3f

SPACE FOR ROUGH WORK / T & & ford sr°Tg
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26. In the circuit shown, A and V are ideal ~ 26. TE@® T afme # A iRV e1est Triex v
ammeter and voltmeter respectively. SleeHe § | deeHed &l 918 B
Reading of the voltmeter will be :

+I [~ +! }_
, | 1 - ]
2V @ & 2V @
10 10 i 10 1Q
AN —O—ANA—O—— L AAAA—O—AAN—O—
(A) 2V (A) 2V
(B) 1V B) 1V
(C) 05V (C) 05V
(D) Zero D) A

27. The wavelength of light in two liquids ‘A’ 27. R &9 ‘A’ q€1‘B’ H YR ol qUTaed FHAW:
and ‘B’ is 3600A and 72004, then the 3600A 3R 7200A T, @ wifae o1 1 AH
critical angle will be : B
(A) 30° (A) 30°
(B) 60° (B) 60°
(C) 45° (C) 45°
(D) 15° (D) 15°

SPACE FOR ROUGH WORK / TF &8 & fa&l wWig
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28.

29.

If two +5D lenses are mounted at some
distance apart, the equivalent power is
always negative, if the distance is :

(A) Greater than 40 cm

(B) Equal to 40 cm

(C) Equal to 10 cm

(D) Less than 10 cm

All the surfaces shown in figure are
smooth. The tension in the string

connected to 2 m is :

2mg
B =5
(B) mg
(C) 2mg

4mg
O —

28.

29.

Ife + 5 SEE & U T FB T TEH FhR
safeera ¥ T o &I THe FHOTeHsh Tl
%,T‘ﬁ'qgia'@f‘ﬁ:

(A) 40 JHL. ¥ S
(B) 40 ¥.HI. &
(C) 10 H.H. &F

(D) 10 &, 9 FH

fe 7 fom Tt waE faedt €1 2m 9

& Tl & e A €
)
2m S— P

l /
TI7 L LS LSS TS
F}/f{."fﬁ 4 / ff. /”fr/",/:; "'f. J"’.’/J/f;‘ /;f_LLj,-"/f

2
® 5
(B) mg
(C) 2mg
4
o 3

SPACE FOR ROUGH WORK / T %14 fos sE
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30. A planoconvex lens (f=20 cm) is silvered ~ 30. U FHACHIA o (f=20 ’\Eff‘:ﬁo) i THA
at plane surface. Now f will be : T ol TSI fondl 1 €1 376 f BT
(A) 20 cm (A) 20 9.

(B) 40 cm (B) 40 Q..
(C) 30 cm (C) 30 ..
(D) 10 cm (D) 10 9.,

31. A ship which is stationary, is at a distance 31. feer wydt se= @ TS da h1 TR
of 2900 m from the seabed. The ship 2900 HIX & ¥ SIS q ht 3R Teh et
sends an ultrasound signal to the seabed et otar ®1 39 foret =t wfqeaf s
and its echo is heard after 4 second. The T 4 GHUE ST A <A |1 U H et
speed of sound in water is : EAlCIC R
(A) 340 m/s (A) 340 HieY/qHTE
(B) 1450 m/s (B) 1450 HIEY/TwhvE
(C) 2900 m/s (C) 2900 Htex/¥wTE
(D) 775 m/s (D) 775 Hiey/q&vE

32. Which of the following has the highest ~ 32. Trfefiad # forue! switg 7 (Felrd 7m)
calorific value ? SAftrRad i ® 2
(A) LPG (A) LPG
(B) CNG (B) CNG
(C) Hydrogen (C) TESSH
(D) Petrol (D) U

SPACE FOR ROUGH WORK / T® &Td & f&a &l sre
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33. A ball is dropped from a height of
10 metre. Ball is embedded in sand
through 1 metre and stops. Then:

(A) Only momentum remains

conserved

(B) Only kinetic energy remains

conserved

(C) Bothmomentum and kinetic energy

are conserved

(D) Neither kinetic energy nor
momentum is conserved

34. A body is projected vertically upward
from the surface of the earth with a
velocity equal to half the escape velocity.
If R is radius of the earth, the maximum
height attained by the body is :

(A) R/6

(B) R/3

(C) 2R/3

(D) R

33. @ﬁv—daﬁmr’r\aaﬁ@—arﬁﬁﬁwm%l
7% e Yq H 1 HieT 99 T T S €, T

(A) e gam wefhd @@ R

(B) el TRl St IR &t §

(©) 2 g iR i S wefeE & €

(D) Tiferst et 3R wa St Tt T
gl

34, TF S B Y B YA § TR 9
oS 3§ SeateR yaiftd R s g, @ o
2R T SRR Ses Bl
(afz R g & B R)

(A) R/6
(B) R/3
(C) 2R/3

(D) R

SPACE FOR ROUGH WORK / 1% &4 & faa smE
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35.

36.

37.

Graph of force per unit length between
two long parallel current carrying
conductors and the distance between
them is :

(A) Straight line
(B) Parabola
(C) Ellipse

(D) Rectangular hyperbola

If a point moves along a circle with
constant speed. If w, be its angular speed
about any point on the circle and , be its
angular speed about the centre, then :

(A) wy=0y

(B) wy=7w

©) 2wy=wy

(D) =20,

When an Aluminium wire of a specific
length is stretched to reduce its diameter
to half its original value, its resistance will
become :

(A) Two times
(B) Four times
(C) Eight times

(D) Sixteen times

35.

36.

37.

A FHARR AT ] % e 9 T
THEIE 1 o T Ik T U B A0
B

(A) W@

(B) YlEe™

(C) e

(D) STHAR SAfquee™

Teh U1 Tk Sxitel A ) ChEHH 91t § 71
FW 1 A T HU H g7 RV Rt fag
o TR IO =TT o, T A F % o IR
HIUT A w, B, T :

(&) oy=0,

1
(B) p= 3@

© 20y=0

(D)  @y=20,

T fYea o % tegfatEg & arR &
T T SHHT S AT HT fean Sian 8,
TqehT GfceRiY B ST

(A) AT

(B) R
(©) ST
(D) I T

SPACE FOR ROUGH WORK / T% &1 & 13 sg
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38.

39.

40.

The electron in the beam of a television 38.

tube moves horizontally from south to

north. The vertical component of the

earth’s magnetic field points down the

electron is deflected towards :

(A) West

(B)
©)

No deflection

East

(D) North to South

A boy standing infront of wall at 17 m 39.

produces 10 claps per second. He notices

that the sound of his clapping coincides

with the echo. Echo is heard only once

when clapping is stopped. Calculate the

speed of sound :

(A)
(B)
©)
(D)

If a current is passed in a spring, it 40.

(A)
(B)
©)
(D)

320 m/s
340 m/s
315 m/s

330 m/s

Gets compressed
Gets expanded
Oscillates

Remains unchanged

o Yeifaer g ¥ T o g e
=ferr & SR F IR T W W T =R F
wmwmmﬁﬁmm
3| gomet fora feen o fadfia 202

(A) TREH SR

(B) IS fordrq T

(© T =

(D) S ¥ 3o FT 3

Tk AR % TE 17 W B WG T
T 10 A ¥ YehUS I W 1 T
g w & i SHH! Aol IS 6l AT
qeon yfeas & STaTS U WY Skt § | el
I S HE R FHae T 9K & et
g At &1 A Y h A

(A) 320 H./4.
(B) 340 /4.
() 315 /4.
(D) 330 H./4.

Ifz fret warr (Ffein) & ww varfed
W?ﬁﬂ’ﬁ:

(A) Hepfed 2 7L
(B) et ¥l

(C) e TR F
(D) erafeafda Tl €

SPACE FOR ROUGH WORK / T &rd & o s
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(B) Chemistry (B) HET I A

41. Vinegar is a solution of : 41, TR (fe) o faemm S

(A) 50%-60% acetic acid in water (A) 50%-60% THITCH 7 &1 T
IEEEE

(B) 5%-8% acetic acid in water (B) 5%-8% THifesh 1= 1 Sieiiy faeraq

(C) 5%-8% acetic acid in alcohol (C) 5%-8% THifewh T T SToohleci ™
[EGEE]

(D) 50%-60% acetic acid in alcohol (D) 50%-60% THifceHh 317 1 STehigei™
IEGER

42. The mole fraction of solute in 2.5 molal 42. 2.5 ¥ S faea § fae 1 /e gars

aqueous solution is : : g

(A) 0.086 (A) 0.086
(B) 0.043 (B) 0.043
(©) 0.86 | (©) 0.86
(D) 043 (D) 0.43

43.  Which of the following statements about ~ 43. =fafen sfufshen & fog fed T el

the given reaction are correct ? HA-MEAE?

3Fe(s) + 4H,0(g)—>Fe30,(s) +4H,(g) 3Fe(s) +4H,0(g)—>Fe;0,(s) + 4H,(g)
(@) Iron metal is getting oxidised (a) SIS B /T T
(b) Water is acting as reducing agent (b) STCT STYAIH HT B F W T
(c) Water is acting as oxidising agent (c) Tt SHTerEiTehTvl o1 h1ef o T B |
(d) Water is getting reduced (d) Tl T ST B @R

(A) (@), (b), (d) (A) (@), (b), (d)

(B) (@), (b), (¢) (B) (@), (b), (9)

© (© (@) © () )

D) @, (@ @ - D) (@), (), (d)

SPACE FOR ROUGH WORK / T% &1 & o wg
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44. Inthe thermite process the reducing ageﬁt 44, oSS WA '3, SIS Bl 2
is:
(A) Mg (A) Mg
(B) Al (B) Al
© C C) C
(D) Na (D) Na

45. Among the following which one is  45. By 3 He H T qafed & §?
mismatched ?
Colour of flame Inference (metal) THTAT hf T feremd (o)

(i) Crimsonred - Potassium (i < EICH - refirm

(ii) Brick red - Calcium () ¥ Y A = Ffeorem

(iii) Apple green - Barium (iif) e S 7 - sftam

(iv) Golden yellow - Sodium (iv) oy de - Oifea

(v) Violet - Strontium (v) S N SRR
(A) (i) and (i) (A) (i) T (i)
(B) (i) and (V) (B) ()T (v)
(C) (iii) and (iv) (C) (i) T (iv)
(D) (i) and (iv) (D) (i) T (iv)

46. Pair of radicals precipitate with 46, rIfaH Tifereee ¥ er@Aftd B Tl HeThi
ammonium molybdate is : HTET
(A) Cu?*and SO2~ (A) Cu?* WE SO2~
(B) Bi**tand Sb>* (B) Bi¥+ WSH>*
(C) Pb**and PO~ (C) Pp2+ TEPOS"
(D) As**and PO~ (D) As** TH PO,

SPACE FOR ROUGH WORK / T& &rd & el e
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47. Mixture of O, and N,O is used as : 47. O, N,O % fgu 1 T g @
(A) Oxidising agent (A) SATeeRREs & &Y H
(B) Anaesthetic (B) T & €7 d
(C) In welding (C) afcen#
(D) Fuel (D) T FEIH
48. The ratio of electron, proton and neutron ~ 48. ¢ H AT, W T Al 1 ST
in tritium is : | g
(Ay 1:1:2 (A) 1:1:2
B) 1:2:1 B) 1:2:1
< 1:1:1 <G 1:1:1
(D) 2:1:1 (D) 2:1:1
49. A compound contains 54.55% carbon,  49. & AR H 54.55% HTeH, 9.09% EESISH
9.09% hydrogen and rest oxygen. The qT 9 SHlerdSH T 1 AR A G
empirical formula of the compound is : g
(A) CH;O (A) CH;0
(B) C4HgO, (B) C,HgO,
(©) CHLO; ©) GHLO,
(D) GHO (D) GHO
SPACE FOR ROUGH WORK / T% & & & s
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50.

51.

52.

The TUPAC name of the following 50.

compound is :
CH,-CH,-CH=CH-C= CH
(A) hex-1-yne-3-ene

(B) hex-5-yne-3-ene

(C) hex-3-en-1-yne

(D) hex-3-en-5-yne

214.2 gram of sucrose (C15H2,011) 51.

contains 34.2 gram of sucrose, molality
of the solution is :

(A) 0.055 m
(B) 055 m
(C) 5.55m

(D) 55.55 m

An aqueous solution turns red litmus 52.

solution blue. Excess addition of which
of the following solution would reverse
the change ?

(Blue to red)

(A) Lime

(B) Hydrochloric Acid
(C) Baking powder

(D) Ammonium hydroxide solution

fre 2T &1 TUPAC THeT §

CH,~CH,—-CH=CH-C = CH
(A) TE-1-3TEF-3-3H
(B) FH-5-3TEA-3-EH
(C) BFE-3-TA-1-3TE
(D) ¥eFE-3-TA-5-3A

214.2 T GHIS (Cp,H,,0;p) 342 T
gt Sfeerd §, e it wieferd € :

(A) 0.055 m
(B) 055 m
(C) 555 m

(D) 55.55 m

S faere @ faesd e #
Frd) fret § S-w foerm sifve won |
fiTel T 98 REd Seel o ST ?

(e § )

(A) rEH ()

(B) ERGIRAE 3T

(C) T el |iel

(D) T BEgES faerr

SPACE FOR ROUGH WORK / T @rd & o -7
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53. Incase of type of coal, the carbon contain ~ 53. e % YHR H 5T YR H &= &) w60
is maximum in : Haifusw &7
(A) Anthracite (A) TmHEe
(B) Bituminous (B) fagiTa
(C) Lignite () famse
(D) Peat (D) dr i
54. Four students were asked to study the 54. WD ! AT ARIH FARGES a1 Higaw
reaction between aqueous solution of Hethe & ofte BM At Afufmen & stered
barium chloride and sodium sulphate. % foe e T T e ¥ < wei
On mixing the solutions of two salts in a H AN W (FF AT EAR?) ‘
test tube : (Which one is correct ?)
(a) the colour of the mixture becomes (a) THgO = & @A T
brown.
(b)  the solutions form separate layer. (b) Toorm ¥ s s wa & T
(c) a colourless mixture is obtained. (c) TTEA foreras e gami
(d) a white substance settles at the (d) T u%s uSi F9 e W)
bottom.
(4) () (Aa) (0
(B) (9 B)
© (@) ©) (@)
(D) (a) (D) ()
SPACE FOR ROUGH WORK / T® &1 & fe& wg
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66. Separation and purification of organic 66. mﬁﬁmﬁﬁaﬁwqusﬁmaﬁm

compound cannot be carried out by : ST Hehdl ¢
(A) Distillation (A) A™EIA g
(B) Solvent extraction (B) o frepdor g
(C) Precipitation (C) STE8Tu gR
(D) f;‘actional cysﬁgllization (D) TSt fReeaienor gr
67. Glass is soluble in : 67. o forerd A E :
(A) HCIO, (A) HCIO, ¥
(B) HyS0, (B) HyS0, q
(C) HF (C) HFH
(D) HCl (D) Hdﬁ'
68. XCu+YHNO;—»XCu(NO3),+ 68. X Cu+Y HNO;—X Cu (NO,),+
Z NO+4H,0 Z NO +4H,0
The values of X, Y and Z are : X,YQ?Z%?H'@I"?[:
X Y Z X Y Z
@’ 8 3 2 (A) 8 3 2
(B) 3 4 3 B 3 4 3
< 3 8 2 < 3 8 2
)y 2 3 8 (D) 2 3 8

SPACE FOR ROUGH WORK / T @Td & fad s
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69. Among the following pairs, select 69. = g & 7 m@ﬁﬁ R RIE]
isoelectronic pair : HISE
(A) N3-,NO* (A) N3, NO*

(B) CN—, NO* (B) CN-, NO*
© O3, F € 03,F
(D) 0,,C0" (D) o}, co’
70. The group reagent of group III of basic 70. ReA® ekt o 98 11 % Tg ufders
radicals are NH,OH in presence of NH4C1% Sufeefg o NH4OH%I NH,C1 %1
NH,CI, the role of NH,Cl is :. F T
(A) To increase the dissociation of (A) NH4OHT=|-T[1;q’?:|"|'&'|T-[ﬁqF§E|'T{_w|TV|
NH,OH.

(B) NH,Cl acts as catalyst for (B) I & fo NH4C13?§WEFI FI
precipitation. FETEI

(C) To decrease dissociation of NH,OH. (C) NH,OH ¥ faaiem =l 7 FT |

(D) Hydroxides of group III of basic (D) 'g'x{gm%ﬁ WW'&;@@W@@
radicals are insoluble in NH,CIL. NH,Cl b e g &1

71. In Lassaigne’s test for detection of 71. eI AT § 9G] & Te9M ¥ a9 I
elements in organic compound, the T encipa Hifeaw fepd # Hieh FTIREE
acidified sodium extract gives red colour T % 919 o 37 9T g © 1 AR °
with ferric chloride solution. The TaE
compound contains elements :

(A) Nand$S (A) NWS
(B) SandCl (B) SWECI
(©) NandCl (C) NTWCl
(D) Sandl (D) STAI
SPACE FOR ROUGH WORK / T% @13 & fo& stg
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72.

73.

Chemical A used for water softening to
remove temporary hardness. A reacts
with Na,COj to generate caustic soda.
When CO, is bubbled through A, it turns
milky. What is the chemical formula of
A?

(A) CaO
(B) Ca(HCO,),
(C) CaCoO,

(D) Ca(OH),

Ethanol reacts with sodium and forms
two products. These are :

(A) Sodium ethoxide and H,O
(B) Sodium ethoxide and H,
(C) Sodium ethoxide and O,

(D) Sodium ethanoate and H,

74. The compound NH,CI contains :

(A) Ionic and covalent bond
(B) Ionic and coordinate covalent bond

(C) Covalent and coordinate covalent
bond

(D) Ionic, covalent and coordinate
covalent bond

72.

73.

74.

A TR 1 STANT ST SRl Rl g
g & W w1 % foe fean smar €
A 9Tk Na,CO, & aifufsean & Hifes
el sl ¥ 1 S CO, A % foerad #
wafea fren STl € @ TR SRR A S Sl A
1 TEETE T3 T 8 ?

(A) CaO
(B) Ca(HCO,),
(C) CaCO,

(D) Ca(OH),

oMt Aifeam @ arfufrar = 38 =
%l @IW%:

(A) Wifezm seiewEe iR H0
(B) Wifeam gufammzs SR H,
(C) Wifeam aifamEe 3R O,
(D) Wifeam samTe 3R H,

i NH,CI1H © :

(A) Tt T HeEdrs Y
(B) STk To SUWEEATS 54
(C) WeHdst Td SuEeEdst T4

(D) ST, TEEdsl T8 STHeEdrst 574

SPACE FOR ROUGH WORK / T% &t & ol g
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75. Consider following reaction : 75. e arfufsren w foem wifsd -
2Na,5,0, + I,—»2Nal + Na,S,04 2Na,S,0, +1,—2Nal + Na,5,0,
The equivalent mass of Na,5,0; is : Na,S,05 &1 ﬁ@ﬁ A T
[Na=23, 5=32, O=16] [Na=23, S=32, O=16]
(A) 248 (A) 248
(B) 124 (B) 124
(C) 596 (C) 596
(D) 62 (D) 62
76. A 5 molar soiution of H,S0, is diluted 76. UW&H 5 Hqrer H,S0O, &1 foeram 1 feez |
from 1 litre to 10 litres, the normality of 10 T a% aqFa T T, faemm st
the solution will be : referan B
(A) 025N (A) 025N
(B) 1N (B) 1IN
€ 2N (C) 2N
(D) 7N (D) 7N
77. pH of Human blood is : 77. WHE W H pHAAT
(A) equal to 7 (A) 7% T
(B) slightly less than 7 (B) 79 drgI FH
(C) slightly greater than 7 (C) 79 arg e
(D) none of above (D) W= H q FIE el
SPACE FOR ROUGH WORK / TF & & & swig
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85.

86.

87.

88.

Which of the following is an Artificial type 85.

of Ecosystem ?

(A) Grass-land Ecosystem
(B) Forest Ecosystem

(C) Rice field Ecosystem

(D) Lake Ecosystem

Kala-azar is caused by : 86.

(A) Plasmodium vivax
(B) Leishmania donovani
(C) Trypanosoma gambiense

(D) Wuchereria bancrofti

The end product of ornithine cycle is : 87.

(A) ammonia
(B) uric acid
(C) wurea

(D) CO,

Emergency gland of the body is : 88.

(A) Thymus
(B) Testis
(C) Adrenal

(D) Pituitary

= § @ - Wit @5 HiH TR
FHR?

(A) =% % BeM W wiRffae =
(B) o @I WfeafeR o
(C) uW % &a = TRfErfas® o
(D) e 1 wifeerfaen o

TSI TR 0T Bl © 7
(A) ASTHIfETH AEed

(B) wRRE SHEE

() fetmm i

(D) aT=afEn Shiwt

ST =1 w1 3ifaT 3R ©
(A) 3T

(8) Ifw wfEe

© Ffen

(D) €O,

TR Y SATHTEA 3774 ¥
(A) e
(B) <few
© TwgrE
(D) foeged

SPACE FOR ROUGH WORK / 1% & @ fo& <ig
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89. (a) Assertion: Cells are mostly small. 89. (a) ThYT: IR TR B Bt
%l .
(b) Reason: Minimizes the ratio of (b) RITT: gagl &3 @ A *
surface area to volume. 3TATT 1 =LA FA H
femi
(A) (a) is correct, (b) is wrong (A) (a) TE, (b) Ter@ g
(B) (a) is wrong, (b) is correct (B) (a) T, (b) WE ?
(C) (a) and.(b) both are correct (C) (a) TE (b) T W g
(D) (a) and (b) both are wrong (D) (a) & (b) I e §
90. Which of the following is used in making  90. e H | RGeS ST TR W8 U R
permanent mount ? T foran s § 2
(A) Alcohol (A) TTHEA
(B) Glycerine B) fawi=
(C) D.PX. (C) S
(D) Xylene (D) S
91. In man, gall bladder is situated in : 91. TS H Tid s feum T
(A) leftlobe of liver (A) Thd F a1 o |
(B) caudate lobe (B) iee A H
(C) right lobe of liver (C) Ihd & T A |
(D) quadrate lobe (D) e e H
92. Infective stage of Entamoeba histolytica ~ 92. T % ferd wrestTien feedifetfesht i Wshmeh
for human is : JERATR
(A) uninucleate cyst (A) Irgfrre fae
(B) binucleate cyst (B) wEfwTae T
(C) quardrinucleate cyst (C) wErfgfaerae fae
(D) trophozoite cyst (D) rhsare foe
SPACE FOR ROUGH WORK / T% &TE & fad '8
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93.

94.

95.

96.

Which of the following stain is used in ~ 93.

staining of thick walled plant cells for
observation ?

(A) Safranin
(B) Light Green
(C) Acetocarmin

(D) All the above

Which of the following microscope is used 94,

in Laboratory for magnifying 10 to
15 times ?

(A) Compound Microscope
(B) Dissecting Microscope
(C) Phase Contrast Microscope

(D) Electron Microscope

Which of the following food chain begins 95.

with plants ?

(A) Predator food chain
(B) Parasitic food chain
(C) Saprophytic food chain
(D) All the above

When heart beat decreases, the condition 96.

is called :

(A) Bradycardia

(B) Tachycardia

(C) Leucopenia

(D) None of the above

A fufe arell ey ISR 1 STEeHt
F % fore = § 9 fopm T1 9 G S §2

(A) TR
(B) g UM
(C) THEHIET
(D) W a4l

weimreTen & 10 9 15 T e g FrE H
fore Gewel 1 T TR St 82

(A) HI el

(B) fa=daT qawenll
(C) s g qemeEl
(D) SR gereeft

e § ¥ S wE e 9§ IRy
BAE?

(A) el @ AEen

(B) TSl WE Y&l

(C)  Frdfielt e e

(D) Ul Gt

I T2F ! UHT B W § O 39 Fed
g

(A) sifemitea
(B) fwmerifean
(C) wghTafT
(D) SR HIE ol

SPACE FOR ROUGH WORK / T% @18 & ol e
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97. Opuntia exhibits adoptation to which of 97 e Fret 8§ 9 R TR % STer & Ui
the following type of habitat ? SR YRR M 87
(A) Fresh water habitat (A) T TG A"
(B) Salt water habitat (B) <EUfg STt A
(C) Dry land habitat (C) TEYHE 3™
(D) Wet land habitat (D) -9 yHt mmErd
98. Heparin is produced by : 98. TR S fopam S €
(A) Kidney cells (A) forsl Iew g
(B) Blood cells (B) T I g
(C) Bone marrow (C) @M g
(D) Liver cells (D) T IS 5/
99. One haemoglobin carries how many 99. T EIHTCHTSH foha SRS AT T
molecules of O, ? T §?
(A) 4 (A) 4
(B 2 (B)
(C) 6 (C) 6
(D) 8 (D) 8
100. Which of the following tissue is thin  100. T & ¥ H-T0 99 390 el Tt s
walled ? M L?
(A) Collenchyma (A) ERED
(B) Parenchyma (B) HS3WHh
(C) Sclerenchyma (C) e
(D) Sclereids (D) TRIEH
SPACE FOR ROUGH WORK / T% & & ford <778
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SECOND PART
General English

Fill in the blank with appropriate adverb.

101.

102.

103.

She watched the children  as
they played in the park.

(A) careful

(B) closely

(C) care

(D) closer

“My sister worea _ designed
dress”.

(A) Beautifully

(B) Beautiful

(C) Dbeautifullier

(D) beauty

I remember the house _I'was
born.

(A) that

(B) here

(C) where

(D) there

Choose the right option.

104.

Feminine gender of “ Duke’.

(A) Empress
(B) Duchess
(C) Princess
(D) Mistress

105.

Feminine gender of “monk .

(A) Queen
(B) Countess
() Nun

(D) Lady

Choose the right option changing Direct Speech

into Indirect Speech.

106.

107.

He asked me, “Are you coming home
with me ?”
(A) He asked me whether he is coming

home with me.

(B) He asked me if I was coming home
with him.

(C) He asked me are you coming home
with me.

(D) He asked me if I am coming home

with him.

The teacher said, “Be quiet and listen to

1

me .

(A) The teacher said they should be

quiet and listen to him.

The teacher said be quiet and listen

to me.

The teacher urged them to be quiet

and listen to him.

The teacher they be quiet and listen

to him.

SPACE FOR ROUGH WORK / T® & & fod Se
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Choose the sentence with the correct form of

voice from the given options.
108. The Committee elected him captain.

(A) He has been elected captain by the
Committee.

(B) He is elected captain by the
Committee.

(C) The captain was elected by the
Committee.

(D) He was elected captain by the
Committee.

109. The Principal has granted him a

scholarship.

(A) He is granted a scholarship by the
Principal.

(B) A scholarship is granted to him by
the Principal.

(C) He has been granted a scholarship
by the Principal.

(D) A scholarship is being granted to

him by the Principal.

Give one word for each of the following

expressions choosing from those given below.

110. A person who has an intense urge to

steal.

(A)
(B)
©
(D)

Bibliomaniac
Kleptomaniac
Megalomaniac

Egomaniac

Choose the option that best expresses the
meaning of idiom/phrase underlined.

112. To wash dirty linen in public .

(A) To discuss private problems
publicly.

(B) To wash dirty clothes.

(C) To do useless things.

(D) To wash clothes in public.

113. To fight tooth and nail

(A) To fight a loosing battle.

(B) To fight heroically.

(C) To make every possible effort to
win.

(D) To fight cowardly.

Choose the word which is opposite in meaning
to the word given in capital letters.

114. DIPSOMANIAC
(A) Alcoholic
(B) Teetotaller
(C) Sick
(D) Lunatic

115. DENOUNCE

111. Incapable of being corrected. (A) Accept
(A) Incorrect (B) Accuse
(B) Indisp'er'lsable (©) Condemn
(C) Incorrigible
(D) Inevitable (D) Faith
SPACE FOR ROUGH WORK / 7% & & faa S8
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11e.

117.

118.

119.

AT W
= =<t

el 91 T = IS

(A) YT TSI el FHIfd el ¢ |
(B) o/l WTET e § Seh! HST-=rar |
(C) STaeh1 EIST Herh! FIferd Ll &
(D) TS SATIRT Tl FIf idell € |

e 3 ¢ ermer’ 1 v TR ©
(A) @

(B) 1y

(€ &

(D) s

 sTerTet T Berehd ST e o 31 ©
(A) T % foeg M HE

(B) ST gl

(C) TR T =l

(D) TE e

“feg HOMER N ST © Toptu-<Tet <Rl SEeht
AR 2’

- fre 3TEiR T IR § 7
(A) FAIE
(B) I
(C) SFIgaH
(D) gagad

120.

121.

122,

123.

‘e’ S feRe e 1 B2
et
e
(C) et
(D) RE

(A)

‘e TR T T SSTeN § 2
(A) oA sgafe

(B) qewrant wgiife

(C) g gsiife

(D) WHMIHRTT ST

‘oE 3T 21 UE I ThE TSt SRl W | 2
(A) T qia=

(B) WA AT

(C) T Fdu

(D) SwE H E Tl

‘o UF T 32T IR T | =l A’ 59 A
T wel feman oo gmm

(A) T T ferroon

(B) W fofa feroor
(C) o3 fran ferom
(D) ifirer foman ferdomn
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124.

125.

126.

‘S TR F T R S w9 H wm B
I % Ty T TR B

(A) TIFHA
(B)  STerER
(C) TeUHTAA
(D) M=
S T A W H TG HfSC
(A) fome

(B) fog

©)

128. STEqYTUT AR TR AT T R

(A) wﬁwﬁ—@@ﬁﬁ
(B) w-dbmEl A
() Ifafses @

e g

129. ‘gfect: ' =5 1 A A A
(A)
(B)
(C) wepd
FIYA

(D)

130. ‘Suded’ vsE 1 wEl Wiy forese &

127. ‘fR g@' = wgn form qere @ AR T (A) v+ I
SR ?
(A) for din-do Ty (B) SR + 3R
(B) WRITE ®I oA © Wi v
(C) 13 1 I
SPACE FOR ROUGH WORK / T® @™ & fe&l s7g
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FOURTH PART

General Knowledge of Computer

131. Computer can be used in the field of :

132.

133.

(A) Education
(B) Medical
(C) Banking
(D) All of the above

Which one of the following is not an

impact printer ?
(A) dot-matrix printer
(B) daisy-wheel printer
(C) inkjet printer

(D) line printer

Which one of the following is an

antivirus ?

(A)
(B) Worms

Trojans

(C) Quick heal

Bots

D)

131.

132.

133.

aqef W
THIET hl WTHT STRRT

FHE H ST % & | fepan

ST |

(A) foem

(B) fafered
() afkm

(D) I wedt

frefafes § 3 9 w i i

(A) Tle-Hfra i
(B) TSi-=a IR
(C) s fo
(D) @ iz

frfefad & ¥ 1S Tk TEERRY |

(A) gt
(B) =Y

(©) T fea

o

dqH

<

(D)
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134. What is the full form of CD ?. 134. CD #1.q0 €4 RN ?-
(A) Compact drive (A) Compact drive
(B) Computer drive (B) Computer drive
(C) Compact disc (C) Compact disc
(D) Computer disc (D) Computer disc
135.. Which one of the following is not an 135. frefafad § 9 oI T e faweH &
operating system ? gl
(A) Linux (A) Linux
(B) Chrome (B) Chrome
(C) Free BSD (C) Free BSD
(D) DOS (D) DOS
136. Which one of the fpllowing is not an 136. fAfafea # ¥ &8 & W%ﬁﬁﬂ?@'
output device ? gl
(A) Scanner (A) T
(B) Printer (B) T
(C) Monitor (C) WHIX
(D) Plotter (D) AR
137. Youtube isusedto 137. JE@ W SwEm - ofE S R
(A) Share the video (A) fafear am=n 0 & fa@
(B) Watch the video () fafea T % o
(C) Both (A) and (B) (©) (A) &R (B) €A
(D) Only (B) not (A) (D) %ad (B), (A) Tl
SPACE FOR ROUGH WORK / T% &md & fo&t g
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138. Multimedia documents contains . 138. WeHfea s | B R

(A) Audio (A) e
(B) Video @®) fafe
(C) Text (C) <=
(D) All of these (D) @it

139. In which MS Office, the simple  139. f&¥ THTE. HAffrg o TR TR 7O

mathematical calculation can be done ? foran <1 g &2

(A) MS word (A) THTH T8

(B) MS Excel (B) TH.UH. THWA
(C) MS PowerPoint (C) TH.TH. JeRuiE
(D) All of the above (D) ST el

140. Which one of the following is not an  140. frafafed § @ o tF -7 TR T4 8

e-mail server ?

A) gmail A ail
Y8 gm

(B) rediff-mail (B) rediff-mail
(C) hotmail (C) hotmail
(D) google ’ (D) google

SPACE FOR ROUGH WORK / 1% &Td & f&@ e
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141.

142.

143.

FIFTH PART
General Knowledge

When did Lord Curzon Partitioned
Bengal Province ?

(A) 1905
(B) 1911
(C) 1907

(D) 1912

Which of the following has the least
contribution in the employment sector ?

(A) Banking Insurance and Immovable

Property
(B) Organized Sector

(C) Service Sector

(D)

Co-operative Sector

What is the function of CASH

Committee ?

(A) To keep the account of cash of the

Reserve Bank

(B) Budget distribution of the Central

Government

Women independency

©
(D) Against Sexual Harassment with

women

141.

- 142.

143.

gieal WrT
R|ET {7
e &S A S o faure & fomar an?

(A) 1905
(B) 1911
(C) 1907
(D) 1912

frafafas § @ UK &% § 9 G99 ®H
wewifirn fored 82

(A) S = e sre g

(B) Hwfad &
(C) W& &d
(D) WEHN Hell &

9 HAS T FE HA 87
(A) Toord S & el w1 e T
(B) R TIHR % S 1 S

(C) Higen weersH
(D) Tfgenetl % A SefieT & foes
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144. Match the following monuments with
their builder dynasty :

(@) Devrani Jethani (i) Som dynasty
Temple of Tala

(b) Shiva Temple (i) Fani Nag dynasty
of Pali

(c) Rajeev lochan (iii) Sharabhapuriya
Temple of Rajim dynasty

(d) Mandwa Mahal (iv) Nal dynasty
Kabirdham

@ (b)) (o (d)
(a) (@) @ @) @
(B) @) @) @ @)
© @O @) @ @)
(D) () @) @) @

145. What is the Upper Most Soil layer of the
earth called ?

(A) Mineral layer
(B) Organic layer
(C) Based layer

(D) External soil

144. FrAfafEd SRR &1 39 fafar 99 4
ﬁﬁﬁlﬁ?ﬁﬁ@f:

(a) T I SETHL () e
SIS

(b) relt = ¥ HR (i) HIOFTEN
(c) Tstra e Higt (iii) IRWLHT 5W
fsm

(d) HEdl HEd FHANUMH  (iv) WQT

@ () (¢ ()
(A) @) @O () (@)
(B) @ @) @ @)
© O @ @@ @)

145. Yot SR hi Tord L a1 I 1 et
§?

(A) B T
(B) e 7@
(C) 3url T

(D) sm&r g

SPACE FOR ROUGH WORK / 7% &d & o se
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146. In 2002 which Constitutional  146. ¥72002 o gy ¥ forq deeq o a6
amendment, right to education was a1fraR ot Hifets sifusr % ®9 § Wigf
accepted as fundamental right ? vl s
(A) 73 (A) 73
(B) 86 (B) 86
(C) 88 (C) 88
(D) 76 (D) 76

147. What is the Percentage of Nitrogen in 147. SgEUSA | RIS g fora wfaea HNg
atmosphere ? 27
(A) 20.95 (A) 20.95
(B) 78.09 (B) 78.09

(C) 68.06 (C) 68.06
(D) 41.29 (D) 41.29

148. According to the data of 2010-11 what is 148. 2010-11 % STihsi H ATEAR 291 H gfd TRW
the productivity of wheat in kg per 1€ 1 Scrgshal Tehan et off ?
hectare ?

(A) 1547 kg (A) 1547 Tt
(B) 1668 kg (B) 1668 fereiom
(C) 2728 kg (C) 2728 fewreium
(D) 2938 kg (D) 2938 fereium
SPACE FOR ROUGH WORK / T% @Td & for&l g
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149. Which of the following statement is not 149. TSH I o ford I 91 A TEl e § 7
true for Harappa Civilization ?

(A) They do not know to dance (A) IR T H IE T A1

(B) They do not know play ‘Pasa’ (B) i¥ % @l I JH Tl AT

(C)  They do not know elephant (C) el 1 FH & o)

(D) Citizen of town were called ‘Vish’ (D) TR % ARk i fowr wed 91

150. What was the immediate cause of Kandel 150. 39 ¥ F hed T8 TN h dlcehlieTeh

Nahar Satyagrah of this state ? IO T 417
(A) Not getting water from canal (A) TR UHT A e
(B) Demand for constructing canal (B) =& fmior =it wi
(©) Penalizing for taking water from (C) & & 9T oA & JAA
the canal
(D) To stop the constructing for canal (D) & fmior Jek
-00o0- -00o0-

SPACE FOR ROUGH WORK / 1% @Td & fa&l g
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SET - A

IO 3ifRa LT T HEG : 3 " } { afireRad 3ieh : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e
1. 38 Y-giEaes | 1= am g e |
1) (A) fde e 40 3
(B) TEEH A 40 3T
(C) sha fomm 20 3K
(2) EEE SIS 15 3
(3) wmr fet | 15 3%
(4) THER K WA STHRRT 10 %
(5) EHFFH 10 ek

oo W 1 50 1§ Tl v w0 aifrer ¥
2. T ¥ W, & T OMR - (3TEwie) R sifwd wifay|
3. o I 3feRd T WX 1/4 ek IS TR
4. Tt off e F Fagaet T A Lo 6 HeEe WA YA afid 7
5

OMR T30 (TR T FANT B To Vet g STaaer 7 B/ 9 el T8 ®e S @
3o Hrs 1 faeee afe ug o RgE Therersy o8 S 8 S |

Note :
1. This Question Booklet consists of Parts namely :
(1) (A) Physics 40 Marks
(B)  Chemistry 40 Marks
(C) Biology 20 Marks
(2) General English 15 Marks
(3) General Hindi 15 Marks
(4) General Knowledge of Computer 10 Marks
(5) General Knowledge 10 Marks

Fach question carries 1 mark. All questions are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.

2
3. 1/4 mark will be deducted for each wrong Answer.

4. Useof any type of calculator or log table and mobile phohe is prohlblted
5.

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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